


Note 3: Some questions

1. Small businesses outperform big: Bank. In a recent G&M article, “By almost any measure, Canadian small and medium-sized enterprises surprises on the upside during the recent recession,” Are you surprised? 
2. What is the cause of business cycles?

3. If the answer is so simple, why didn’t earlier researchers get the simple answer?
4. Low interest rate lowers the cost of borrowing for every one. So it should benefit every one. Why or why not? (The limited capability of forecasting.) 
5. What are the impacts of government stimulus packages? Are the reductions of services in school districts and hospitals related to the stimulus packages? Why sometimes stimulus packages work better than in other times? 
6. Financial assets and physical assets, which should be our benchmark of riskless assets? Or neither? 
7. Mental discount rates and institutional discount rates. Their relations.
8. Should the amount of credit card debt be regulated? Why and why not? 
9. Why long term rates are determined by markets and short term rates are not? 
10. Discounting on issues with long term impacts. 
Answer to question 3: Low interest rate environment favors high fixed cost and long term investment. But our capacity to make long term forecasting is limited. As a result, many of the high fixed cost investment will be wasted. However, high fixed cost investments may attract a lot of capital in the initial stage and squeeze out low fixed cost systems.  
